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1. &% :
MnO, + 8H +5¢ < Mn® +4H,0 P= 151V
Mn?* +2H,0 < MnOyy+4H 2  E°=—-123V
REFHEREZE
MnOs +4H +3¢” < MnO,t+2H0 E°=17 (10%)
2. RAKCEEFILLERELT
k
NO,+hv ——> NO+O
O+0,+M —h 0;+M
k
0;+NO ———> NO,+0,
. X k[NO,] N [NO,]
g AT O3 Z B E[Os]e = 22 o B3 E 5 %) =0.1 » [NO,] =
FZRET Os //E'zx[ 3]ss k3[NO] ﬁ/’f‘rﬁ}?&ﬂq’[z\fo] [N x]
k )
[NO] + [NO] ° E,é&n——l—= 10 ppb * [O3]s=0.11 ppm * K :
3 T—
[NO,] N
(1) RABRE F A& LR 53}[ NOT Z tuf] © (5%)
e [NO] e [NOY
2) &y (1)& 22080 3455 BB i bhfE B 2 45 b g% gk AR B
2 ()X /th}?)?ﬁ'%ﬂ“l’[NO] oA XAEE PREIKA %[NOX]
G ERZER - (5%) )
3. B4225°C 8% :
HCO;~ < H +COs* Kp=107103
PR ERTFRES 10°MpH= 95%»5@%&@1& 8% fARZ 5 FIRAE L
E[COZV/[HCO 1 44T ? (B4 B BRZETRE) - (10%)
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4. B.4025°C 8 » CaCO; ~ CaO 81 CO 2 4 A& B & 86AGE 4 5] 5 —269.8 ~ —144.4.%
—94.3 keal/mole > B & CaCOsi — CaOg) + CO» 2 R & 2 AH® = 42.5 keal/mole > &

JB T4 % #0(K)eg BLAH T Van’t Hoff equation 33 + # % R =1.987 cal/mole.X

din(K,).,, AH®
dT  RT?

K 700°C F CaCO3(S) — CaO(S) +COy ¥ CO, Z 5 R - (10%)

5. B4REAREMT > CORRAEFIR(CHY)ZRES
CO,+8H'+8e” — CHygy+2H0

| EERE 2B T 5 M (electron activity) pe(V) =2.87 « XS RBEELZBAS

o

% B » 4 CHy 60% ~ CO,40% > B R E#& pH=7 » & J‘c‘%%—fi}@z%bzﬁ T
(10%)

6. BATFTARAMEYDERHIELZRETHTAET
NH,+20, — NO; +H,0+2H"

Bk T 28 mg/L 2 £ AWNH, -N#EA b - REBATRARZIBESET

mg CaCOs/L 2 (CaCO3z 2 X, & % 100 g/mole » N 2 BT &% 14) (15%)

7. EE‘?K‘P%L%LTJ%M?L/%%  RB AT EFMMCIZRFESR 35D :
()5 mgL £48. 5 2V BmEF mgL F A HALE2ELE N2 (10%)
(2Q)f748 B b A AR A 5 (§%)
GITR & F BARE - (5%)

8. LBTEBALABLEABEFS) BHHEKTHELALSEHTS) R
SF A X H s AL RIE - (15%)




